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Character Theory: easy way to tell

when representations are

unitarily equivalent
· tell when a representation is irreducible

· count/enumerate all the reps of a groug

let giGtUN) a representation of 6
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- tr[es99%) = tr Cerssessipers)
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characters arernvariant under conjugation :

all elements of the some conjugacey class

C = (geGlg'=9899: for some speet
have the same character asa
-Characters are constant on conjugacy classes
The call there "class functionsf
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a reducible rep is
the

Sum ofcharacters of its
irreducible components



Examplei the grong D2 from WI

Die, Ge , Cy ,Gaf
Vector representation : &) ple
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Schu's Lomma-Wonderful Orthogonality Relations
Schur Orthogonality relations

Let 6 be a finite group , p
: 6- UNK
RigtUn

both reducible

and Aany arbitrary dimkdinl, Matrix
AiV,-E

tricki summing over all groug elements
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Under this inver product, characters are
erthonormal

=> we can use characters to figure out
how to decompose aregresentation & into reps
~ m
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